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Half-Life (t1/2): the time required for half the sample to decay.

ln (At/Ao) = -kt
[At can be referred to as "A" or At"]

At is the amount at time "t"

Ao is the initial amount

k is the constant

t is the time

Each half-life the sample amount is cut in half:
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Special case:  ln (1/2) = -kt1/2
1.
The decomposition of tritium (3H) follows first order kinetics (i.e. Rate = k[3H]) and has a half-life of 12.26 years.  The initial amount of a tritium sample is 2.00 g.  How much time must pass for 0.500 g to remain?

2.
The decomposition of tritium (3H) follows first order kinetics (i.e. Rate = k[3H]) and has a half-life of 12.26 years.  The initial amount of a tritium sample is 2.00 g.  How much time must pass for 0.700 g to remain?

_1016522498.xls
Chart1

		12.26

		24.52

		36.78

		49.04

		61.3

		73.56

		85.82

		98.08

		110.34

		122.6

		134.86

		147.12

		159.38

		171.64

		183.9

		196.16

		208.42

		220.68



Years

Sample Count

Decay of H-3

100000

50000

25000

12500

6250

3125

1562.5

781.25

390.625

195.3125

97.65625

48.828125

24.4140625

12.20703125

6.103515625

3.0517578125

1.5258789063

0.7629394531



Sheet1

		12.26		100000

		24.52		50000

		36.78		25000

		49.04		12500

		61.3		6250

		73.56		3125

		85.82		1562.5

		98.08		781.25

		110.34		390.625

		122.6		195.3125

		134.86		97.65625

		147.12		48.828125

		159.38		24.4140625

		171.64		12.20703125

		183.9		6.103515625

		196.16		3.0517578125

		208.42		1.5258789063

		220.68		0.7629394531

		232.94		0.3814697266

		245.2		0.1907348633

		257.46		0.0953674316

		269.72		0.0476837158

		281.98		0.0238418579

		294.24		0.011920929

		306.5		0.0059604645





Sheet1

		



Years

Sample Count

Decay of H-3



Sheet2

		





Sheet3

		






